A# (R &)

fh R R

REAS A A B B et — 8

1 Za
& oE O B | EREER
WA (JEAT) % 7 | HESAT
A AL B B SR 44 3A 8H  FRIINF404Y
(W FE W BR) % | EFAL
A KLk BEREAY
WAL (R E) < %H | 6,380,000/
AAL (AFE) 4% | 5,800,000
AR FER S

WAL (RE) EHEA4

FERHERAAAA TR RS F AT T H 2 7&M 1 1

ANL(REKB) €&

AR (RBE) ¥ F 4 .
FE—MmE E_[E % & 1
AR -
6, 000, 0001 5, 800, 0001
DA
AR\ E ra
6, 200, 0004 5,903, 000/
O]
PR B IR
6, 500, 0004 5,930, 0004
G|
R b
6, 700, 0001 5, 950, 0001
i
RS A
6, 350, 000 5, 965, 000/
i
SV e aLIE=2
6, 500, 0004 5,970, 0004
O]
PRSI A
6, 650, 0001 5,970, 000[1]

il




